














Fig. 12.6

Suppose a force F is applied so tha
mass m on a (rictionless slope lnchneda an angle
the honzontal as shown in Figure IZG U:wi omp
of weight myg acung down the slope is g sin @
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(2) Component wess
mdm‘::m

of the 2 kg

= 2% 08 5 un 25°
éﬁ.lN '

!'e.Hgm:J:tQ.S
. = 294N
:"‘::l&txlkgmmmkm:upth
=t ﬂc]kgmﬁﬂmmm
Or the 2 kg maer- |
2a = T - 2 7 98 » g
_ _ .9, sn 25°
Le.T=2a+2w9.8'xsin25°
b T=2%4%1 (l
Forthe 10 )










FIE. I&.21

Figure 12.11 shows a mass m hanging from a light
cable and being pulled 1o one side by a horizontal force
F:Themanis'nrulandlltwbkmpmdingtht
mass is at an angle 6 1o the vertical,
S’m&nmmisamﬂtwﬂicalcomponem of
the tension in the cable, T, must be equal and opposite
to the weight of the mass. Hence:
Tcos 8 = mg
Also the honzontal component of 7 must be equal
and opposite to F, If the cable is at an angle 6 to the
m'mlitmmh:umangk of 90° - 6 1o the
hornzontal Hence:
Teos (90° - 8) = F
ve. Tsinf = F
2N ISP
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Mass suspended by two cables













® The normal reaction for an object on a frictionle

stope inclined at @ degrees (o the honzontal
mg cos 0.

® The resultant of several forces is the single
could replace those forces present and produce th

15 the vector sum of th

| veral forees is that force which
when added (o the forces already present QIves

veelor sum of zero. The cquilibrant is equal and
Opposite to the resultant.






